Winston Book Errata                                                Fall 2008


Errata for Operations Research - Applications and Algorithms, 4th Ed.

	Page
	Location
	Change

	3
	lines 16 & 33
	both should be "A ( 0.5"

	4
	line 23
	add "-.001P2" to the list of nonlinear terms

	12
	line 16
	"...vector with only one row (a 1 x n matrix) as a..."

	14
	line 24
	"A glance at Figure 2, should convince you..."

	27
	Step 7
	element (3,3) of A7 should be "1", not "3"

	65
	figure 5
	area AEC on the graph should not be shaded

	130
	matrix A
	a1n should be am1 

	205
	line 7
	"...Sailco example (Example 14 of..."

	243
	figure 8
	should be MIN rather than MAX

	263
	figure 1
	the Isoprofit line z = 120 is the dotted line from (0,60) to (40,0). The line from (0,100) to (50,0) is the finishing constraint.

	280
	line 7
	10 - 0.5( ( 0 (true iff ( ( 20)

	295
	equations (17)
	"min w = b1y1 + b2y2 + ... + bmym"

	298
	Step 3
	"As in Section 4.14, replace each urs variable xi by xi = xi' - xi", where..."

	299
	(19') line 5
	should be "-y2 - y3 ( -1

	392
	line 4
	"...(new z-value) = 1,020 + u1 + v1 = $1026."

	451
	line 10
	should be "Figure 46" rather than "Figure 6"

	454
	LINGO code
	8] @FOR (NODES(I): -@SUM(ARCS(J,I):FLOW(J,I)) (there should be no closing parenthesis after ARCS.

	483
	3 lines above Table 4
	the line should begin: "to city j" rather than "to region j"

	556
	9RP-27 last line
	"the five groceries."

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	


Errata for Slides Accompanying Operations Research, 4th Ed.

	Slide
	Location
	Change

	15
	last line
	should be A<0.5
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